BID NUMBER/QUOTE #: 21ITBC000023A-CJC	BID TAB	}				
BID DESCRIPTION: Water Meter Vaults						
REQUESTING DEPARTMENT: DEPARTMENT OF PUBLIC WORKS						
				VEN	IDOR NAME	
				Barto	w Precast, Inc.	
			<u> </u>		DDRESS	
			⊢			
21ITBC000023A-CJC - Water Meter Vaults						
			L	TE	LEPHONE:	
			<u> </u>	C	ONTACT:	
	UNIT	QTY	UNIT \$		TOTAL	
1) 15'x 9'x 7' Precast Vault	Each	0		76.00		
2) Cover with access doors for 15'x 9' Vault	Each	0		606.00		
3) 1' Riser for 15' x 9' Vault	Each	0		77.00		
4) 2' Riser for 15' x 9' Vault	Each	0		58.00	-	
5) 13'x 7'x 7' Precast Vault	Each	25	\$ 3,1	64.00	\$ 79,100.00	
6) Cover, with access doors, for 13' x 7' Vault	Each	25	\$ 2,6	579.00	\$ 66,975.00	
7) 1' Riser for 13'x 7' Vault	Each	2		64.00	\$ 1,528.00	
8) 2' Riser for 13' x 7' Vault	Each	2	\$ 1,2	235.00	\$ 2,470.00	
9) 10'x 6'x 7' Precast Vault	Each	10		82.00	\$ 27,820.00	
10) Cover, with access door for 10'x 6' Vault	Each	10	\$ 1,8	862.00	\$ 18,620.00	
11) 1' Riser for 10' x 6' Vault	Each	2	· · ·	519.00	,	
12) 2' Riser for 10' x 6' Vault	Each	2	\$ 7	98.00	\$ 1,596.00	
GRAND TOTAL:					\$199,347.00	
BIDS MAILED			NOTTO	EVOE		
BIDS RECEIVED:				EXCE	ED: \$200,000.00	

Renewal year price increase(s) in this contract, if exercised by Fulton County shall be limited to the bid prices offered under this solicitation and subsequent contract unless otherwise specifically accepted by Fulton County, but in no instance shall exceed the consumer price index. The term "consumer price index" shall mean the consumer price index published by the Bureau of Labor statistics of the U.S. Department of Labor with particular reference to the average shown on such index for all terms.

BID DESCRIPTION: Water Meter Vaults					
REQUESTING DEPARTMENT: DEPARTMENT OF PUBLIC WORKS					
		VE			
			Barto	w Precast, Inc.	
				ADDRESS	
21ITBC000023A-CJC - Water Meter Vaults					
			<u> </u>	ELEPHONE:	
				CONTACT:	
	UNIT	QTY	UNIT \$	TOTAL	
15'x 9'x 7' Precast Vault	Each	1	\$ 3,976.00		
Cover with access doors for 15'x 9' Vault	Each	1	\$ 3,606.00	\$ 3,606.00	
1' Riser for 15' x 9' Vault	Each	1	\$ 1,077.00	\$ 1,077.00	
2' Riser for 15' x 9' Vault	Each	1	\$ 2,158.00	\$ 2,158.00	
13'x 7'x 7' Precast Vault	Each	30	\$ 3,164.00	\$ 94,920.00	
Cover, with access doors, for 13' x 7' Vault	Each	30	\$ 2,679.00	\$ 80,370.00	
1' Riser for 13'x 7' Vault	Each	2	\$ 764.00	\$ 1,528.00	
2' Riser for 13' x 7' Vault	Each	1	\$ 1,235.00	\$ 1,235.00	
10'x 6'x 7' Precast Vault	Each	20	\$ 2,782.00	;	
Cover, with access door for 10'x 6' Vault	Each	20	\$ 1,862.00	\$ 37,240.00	
1' Riser for 10' x 6' Vault	Each	2	\$ 619.00	· ,	
2' Riser for 10' x 6' Vault	Each	2	\$ 798.00	\$ 1,596.00	
GRAND TOTAL:				\$284,584.00	
BIDS MAILED BIDS RECEIVED:			NO RESPONSE: NO-BIDS:		

Renewal year price increase(s) in this contract, if exercised by Fulton County shall be limited to the bid prices offered under this solicitation and subsequent contract unless otherwise specifically accepted by Fulton County, but in no instance shall exceed the consumer price index. The term "consumer price index" shall mean the consumer price index published by the Bureau of Labor statistics of the U.S. Department of Labor with particular reference to the average shown on such index for all terms.

BID DESCRIPTION: Water Meter Vaults					
REQUESTING DEPARTMENT: DEPARTMENT OF PUBLIC WORKS					
			Derte		
				ow Precast, Inc.	
				ADDRESS	
21ITBC000023A-CJC - Water Meter Vaults					
2111 DC000023A-CJC - Water Meter Vaults					
			T	ELEPHONE:	
				CONTACT:	
		[TOTAL	
	UNIT	QTY		TOTAL	
15'x 9'x 7' Precast Vault	Each	1	\$ 3,976.00	. ,	
Cover with access doors for 15'x 9' Vault	Each	1	\$ 3,606.00	· /	
1' Riser for 15' x 9' Vault	Each	1	\$ 1,077.00	. ,	
2' Riser for 15' x 9' Vault	Each	1	\$ 2,158.00		
13'x 7'x 7' Precast Vault	Each	19	\$ 3,164.00	· ,	
Cover, with access doors, for 13' x 7' Vault	Each	20	\$ 2,679.00	· · ·	
1' Riser for 13'x 7' Vault	Each	2	\$ 764.00	+ ,	
2' Riser for 13' x 7' Vault	Each	1	\$ 1,235.00	, ,	
10'x 6'x 7' Precast Vault	Each	15	\$ 2,782.00	,	
Cover, with access door for 10'x 6' Vault	Each	15	\$ 1,862.00	,	
1' Riser for 10' x 6' Vault	Each	2	\$ 619.00	· ,	
2' Riser for 10' x 6' Vault	Each	2	\$ 798.00	\$ 1,596.00	
GRAND TOTAL:			-	\$199,770.00	
DS MAILED DS RECEIVED:			NO RESPONSE: NO-BIDS:		

Renewal year price increase(s) in this contract, if exercised by Fulton County shall be limited to the bid prices offered under this solicitation and subsequent contract unless otherwise specifically accepted by Fulton County, but in no instance shall exceed the consumer price index. The term "consumer price index" shall mean the consumer price index published by the Bureau of Labor statistics of the U.S. Department of Labor with particular reference to the average shown on such index for all terms.